Time	F/P/S	5	Event		Place	Points	Improv
Philippa Anglin	(13) F						
1:39.48\$	F	# 41D	Female 13-13 100 Breast	CWSL-LD	2		
40.49\$	F	# 45D	Female 13-13 50 Fly	CWSL-LD	5		
2:49.01\$	F	# 47D	Female 13-13 200 Free	CWSL-LD	3		
Karthik Athrey	e (10) M						
42.75S		# 7A	Male 10-10 50 Free	CWSL-LD	16		-11.37
2:01.29\$	F	# 31A	Male 10-10 100 Breast	CWSL-LD	10		
Ela Avcioglu (1	0) F						
DQ	-	# 1A	Female 10-10 100 IM	CWSL-LD			
43.95\$	F	# 6A	Female 10-10 50 Back	CWSL-LD	16		-0.75
3:40.18S	F	# 8A	Female 10-10 200 Breast	CWSL-LD	5		-6.02
1:34.16S	F	# 30A	Female 10-10 100 Back	CWSL-LD	8		-16.65
46.67S	F	# 36A	Female 10-10 50 Breast	CWSL-LD	5		-1.02
Phillip Boico-H	ands (13)	М					
1:09.02S	F	# 2D	Male 13-13 100 Free	CWSL-LD	4		-6.16
2:53.25\$	F	# 4D	Male 13-13 200 Back	CWSL-LD	5		-14.03
31.36S	F	# 7D	Male 13-13 50 Free	CWSL-LD	2		-1.68
NS	F	# 35D	Male 13-13 50 Fly	CWSL-LD	- 		
NS		# 37D	Male 13-13 200 Free	CWSL-LD			
Franciszek Cha NS		z (11) N # 2B	Male 11-11 100 Free	CWSL-LD			
NS NS	F	# 4B	Male 11-11 100 Free Male 11-11 200 Back	CWSL-LD			
NS		# 4B # 7B	Male 11-11 50 Free	CWSL-LD			
			Male 11-11 30 Fiee	CW3E-ED			
Dmytro Danyle				avvav v p	_		
1:51.578		# 31A	Male 10-10 100 Breast	CWSL-LD	6		
47.14S	F	# 35A	Male 10-10 50 Fly	CWSL-LD	11		-13.42
3:22.58\$	F	# 37A	Male 10-10 200 Free	CWSL-LD	12		
1:37.04\$		# 40A	Male 10-10 100 Back	CWSL-LD	5		-3.05
51.50S	F	# 46A	Male 10-10 50 Breast	CWSL-LD	3		-2.82
Sophia Darling	(11) F						
38.96S		# 6B	Female 11-11 50 Back	CWSL-LD	1		-2.67
3:22.88S	F	# 8B	Female 11-11 200 Breast	CWSL-LD	1		
Eva Dramitinos	(10) F						
1:32.648	F	# 1A	Female 10-10 100 IM	CWSL			-15.46
43.59S	F	# 6A	Female 10-10 50 Back	CWSL			-4.82
4:00.99S	F	# 8A	Female 10-10 200 Breast	CWSL			
1:36.07S	F	# 30A	Female 10-10 100 Back	CWSL			-5.89
3:22.12S	F	# 32A	Female 10-10 200 IM	CWSL			
Daniel D'Souza	(10) M						
1:31.47S	F	# 2A	Male 10-10 100 Free	CWSL-LD	13		
3:39.89\$	F	# 4A	Male 10-10 200 Back	CWSL-LD	5		
40.69S	F	# 7A	Male 10-10 50 Free	CWSL-LD	13		
NS	F	# 40A	Male 10-10 100 Back	CWSL-LD			
NS	F	# 42A	Male 10-10 200 IM	CWSL-LD			

Time	F/P/S		Event		Place	Points	Improv
Aslan Eler (10)	M						
NS		# 2A	Male 10-10 100 Free	CWSL-LD			
NS	F	# 4A	Male 10-10 200 Back	CWSL-LD			
1:50.21S	F	# 31A	Male 10-10 100 Breast	CWSL-LD	4		-2.63
36.66S	F	# 35A	Male 10-10 50 Fly	CWSL-LD	1		-0.67
2:57.718	F	# 37A	Male 10-10 200 Free	CWSL-LD	4		2.13
Christopher Fe	nichell (10)) M					
40.388		# 7A	Male 10-10 50 Free	CWSL-LD	12		-2.67
1:57.96S	F	# 31A	Male 10-10 100 Breast	CWSL-LD	9		-7.37
45.63S	F	# 35A	Male 10-10 50 Fly	CWSL-LD	10		-12.73
Valentina Fento	on (13) F						
1:31.998		# 41D	Female 13-13 100 Breast	CWSL-LD	1		
39.37S	F	# 45D	Female 13-13 50 Fly	CWSL-LD	4		1.51
2:35.13\$	F	# 47D	Female 13-13 200 Free	CWSL-LD	1		-0.81
Elena Gilberti ((10) F						
NS		# 32A	Female 10-10 200 IM	CWSL-LD			
NS	F	# 36A	Female 10-10 50 Breast	CWSL-LD			
Thomasina Gro	ve (12) F						
5:35.27\$		# 34A	Female 12-12 400 IM	CWSL-LD	1		
Hudson Hill (1)	2) M						
3:01.96\$	-	# 42C	Male 12-12 200 IM	CWSL-LD	2		-8.47
45.37S	F	# 46C	Male 12-12 50 Breast	CWSL-LD	1		-0.93
Adam Hussein	(12) M						
1:33.185		# 31C	Male 12-12 100 Breast	CWSL-LD	2		-9.78
36.88\$		# 35C	Male 12-12 50 Fly	CWSL-LD	2		-4.88
2:31.30\$		# 37C	Male 12-12 200 Free	CWSL-LD	1		-10.32
Matilde La Mag	na (10) F						
NS		# 1A	Female 10-10 100 IM	CWSL-LD			
NS		# 6A	Female 10-10 50 Back	CWSL-LD			
NS		# 8A	Female 10-10 200 Breast	CWSL-LD			
1:29.58\$		# 30A	Female 10-10 100 Back	CWSL-LD	4		-2.85
X 3:16.46S		# 32A	Female 10-10 200 IM	CWSL-LD			-9.91
46.92S		# 36A	Female 10-10 50 Breast	CWSL-LD	6		-2.77
1:44.04\$		# 41A	Female 10-10 100 Breast	CWSL-LD	1		-3.28
42.87S		# 45A	Female 10-10 50 Fly	CWSL-LD	3		-0.89
2:54.82S		# 47A	Female 10-10 200 Free	CWSL-LD	2		-1.80
Maxwell Lui (1	0) M						
1:23.73\$	-	# 2A	Male 10-10 100 Free	CWSL-LD	9		-1.07
3:18.63\$	F	# 4A	Male 10-10 200 Back	CWSL-LD	3		-14.07
37.63S		# 7A	Male 10-10 50 Free	CWSL-LD	5		-1.09
1:48.29\$		# 31A	Male 10-10 100 Breast	CWSL-LD	3		-3.76
45.04S	F	# 35A	Male 10-10 50 Fly	CWSL-LD	8		0.72
3:06.35\$	F	# 37A	Male 10-10 200 Free	CWSL-LD	9		-15.19
1:39.33S	F	# 40A	Male 10-10 100 Back	CWSL-LD	6		3.10
3:33.97\$	F	# 42A	Male 10-10 200 IM	CWSL-LD	3		9.56
53.65S	F	# 46A	Male 10-10 50 Breast	CWSL-LD	6		0.42

Time	F/P/S		Event		Place	Points	Improv
Samuel Lui (13)	M						_
1:06.62S		2D	Male 13-13 100 Free	CWSL-LD	1		-1.79
X 2:49.85S	F #	4D	Male 13-13 200 Back	CWSL-LD			-5.22
NS	F #	1 7D	Male 13-13 50 Free	CWSL-LD			
1:33.60S	F #	31D	Male 13-13 100 Breast	CWSL-LD	3		1.21
34.59S	F #	35D	Male 13-13 50 Fly	CWSL-LD	2		-2.73
X 2:25.52S	F #	37D	Male 13-13 200 Free	CWSL-LD			-3.50
1:20.36S	F #	40D	Male 13-13 100 Back	CWSL-LD	3		-0.45
X 2:53.53S DQ	F #	42D	Male 13-13 200 IM	CWSL-LD			
6:10.83S	F #	44B	Male 13-13 400 IM	CWSL-LD	1		-8.72
43.66S	F #	46D	Male 13-13 50 Breast	CWSL-LD	3		-0.99
Sophia Maddock	s (10) F						
1:35.958	F #	1A	Female 10-10 100 IM	CWSL-LD	17		-17.36
DQ	F #	6A	Female 10-10 50 Back	CWSL-LD			
3:50.21S	F #	8A	Female 10-10 200 Breast	CWSL-LD	14		
Elizabeth Mousta	akas (10) F	7					
1:41.87S	F #	1A	Female 10-10 100 IM	CWSL-LD	28		
1:55.38\$	F #	3A	Female 10-10 100 Fly	CWSL-LD	14		
7:34.55S	F #	5A	Female 10-10 400 Free	CWSL-LD	11		
49.82S	F #	6A	Female 10-10 50 Back	CWSL-LD	31		-2.03
4:07.38S	F #	8A	Female 10-10 200 Breast	CWSL-LD	22		
Reilly Murphy (1	10) F						
1:38.57\$	F #	30A	Female 10-10 100 Back	CWSL-LD	16		
3:38.87S DQ	F #	32A	Female 10-10 200 IM	CWSL-LD			
51.76S	F #	36A	Female 10-10 50 Breast	CWSL-LD	14		-3.59
Alexia Naydenov	(10) F						
1:31.11\$	F #	1A	Female 10-10 100 IM	CWSL-LD	7		-9.25
6:00.06S	F #	5A	Female 10-10 400 Free	CWSL-LD	4		
44.92S	F #	6A	Female 10-10 50 Back	CWSL-LD	19		-3.54
3:45.98S	F #	8A	Female 10-10 200 Breast	CWSL-LD	8		-3.83
1:34.58S	F #	30A	Female 10-10 100 Back	CWSL-LD	9		
3:19.00S	F #	32A	Female 10-10 200 IM	CWSL-LD	7		-16.89
46.53S	F #	36A	Female 10-10 50 Breast	CWSL-LD	3		-3.21
Saskia Nicholls ((10) F						
1:38.66S	F #	1A	Female 10-10 100 IM	CWSL-LD	23		-6.68
1:51.578	F #	3A	Female 10-10 100 Fly	CWSL-LD	11		
6:48.73S	F #	5A	Female 10-10 400 Free	CWSL-LD	10		
45.96S	F #	6A	Female 10-10 50 Back	CWSL-LD	27		-0.77
4:01.68\$	F #	8A	Female 10-10 200 Breast	CWSL-LD	19		
Cristovao Nunes	Teixeira (1	2) M					
1:41.03S	F #	40C	Male 12-12 100 Back	CWSL-LD	11		
3:51.83S DQ	F #	42C	Male 12-12 200 IM	CWSL-LD			
8:19.58S DQ	F #	44A	Male 12-12 400 IM	CWSL-LD			
53.73S	F #	46C	Male 12-12 50 Breast	CWSL-LD	6		-2.95
Frank Ogden (10	O) M						
1:22.398	F #	2A	Male 10-10 100 Free	CWSL-LD	7		-9.77
36.05S	F #	4 7A	Male 10-10 50 Free	CWSL-LD	1		-1.09
41.63S	F #	35A	Male 10-10 50 Fly	CWSL-LD	4		-0.88
3:09.69\$	F #	37A	Male 10-10 200 Free	CWSL-LD	10		-8.11

Time	F/P/S	5	Event		Place	Points	Improv
Amelie O'Neill	(10) F						
1:26.38S DQ		# 30A	Female 10-10 100 Back	CWSL-LD			
3:08.81S	F	# 32A	Female 10-10 200 IM	CWSL-LD	1		-6.28
46.54S	F	# 36A	Female 10-10 50 Breast	CWSL-LD	4		-3.13
Keira Osorio (1	0) F						
1:32.098	-	# 1A	Female 10-10 100 IM	CWSL-LD	9		-2.64
1:40.16S	F	# 3A	Female 10-10 100 Fly	CWSL-LD	5		-2.11
43.00S	F	# 6A	Female 10-10 50 Back	CWSL-LD	10		-0.07
3:50.02S		# 8A	Female 10-10 200 Breast	CWSL-LD	13		-26.24
Henry Roberts							
NS		# 2C	Male 12-12 100 Free	CWSL-LD			
NS			Male 12-12 50 Free	CWSL-LD			
NS		# 9C	Male 12-12 200 Fly	CWSL-LD			
		" "	Fig. 12 12 200 119	GWOL ED			
Kathryn Robert		U 44 A	E 10.10.100 B 1	CHICL LD			
NS		# 41A	Female 10-10 100 Breast	CWSL-LD			
Jonathan Rudd							
1:08.77S	F	# 2D	Male 13-13 100 Free	CWSL-LD	3		-3.09
31.66S	F	# 7D	Male 13-13 50 Free	CWSL-LD	5		-1.17
NS	F	# 35D	Male 13-13 50 Fly	CWSL-LD			
Alexander Sagir	yan (10)	M					
NS	F	# 2A	Male 10-10 100 Free	CWSL-LD			
NS	F	# 4A	Male 10-10 200 Back	CWSL-LD			
Anika Shet (11)) F						
2:10.42S DQ) F	# 30B	Female 11-11 100 Back	CWSL-LD			
DQ	F	# 32B	Female 11-11 200 IM	CWSL-LD			
58.86S	F	# 36B	Female 11-11 50 Breast	CWSL-LD	8		
Indigo Spence ((10) F						
1:28.55\$	F	# 1A	Female 10-10 100 IM	CWSL-LD	3		
1:35.758	F	# 3A	Female 10-10 100 Fly	CWSL-LD	3		-11.38
5:48.71S	F	# 5A	Female 10-10 400 Free	CWSL-LD	2		
42.45S	F	# 6A	Female 10-10 50 Back	CWSL-LD	7		0.37
3:36.84S	F	# 8A	Female 10-10 200 Breast	CWSL-LD	3		
Hanna Spencer	(11) F						
NS	F	# 1B	Female 11-11 100 IM	CWSL-LD			
NS	F	# 5B	Female 11-11 400 Free	CWSL-LD			
NS	F	# 6B	Female 11-11 50 Back	CWSL-LD			
NS	F	# 8B	Female 11-11 200 Breast	CWSL-LD			
Tashi Spence (1	13) F						
1:28.28\$	-	# 1D	Female 13-13 100 IM	CWSL-LD	8		
41.04S		# 6D	Female 13-13 50 Back	CWSL-LD	5		-0.03
Carmen Stavele	v (12) F						
50.848		# 36C	Female 12-12 50 Breast	CWSL-LD	9		-0.01
Elliot Trotzier ((11) M						
1:26.20\$		# 2B	Male 11-11 100 Free	CWSL-LD	10		
3:25.95\$	F	# 4B	Male 11-11 200 Back	CWSL-LD	5		
37.97S		# 7B	Male 11-11 50 Free	CWSL-LD	6		
37.770		, ,	1110 11 1100 1100	5.70L LD	J		

SPRING DEVELOPMENT MEET 2019 23-Mar-19 to 07-Apr-19 [Ageup: 07/04/2019] SC Meters

Location: Southbury Road Leisure Centre

Time	F/P/S	Event		Place	Points	Improv
Veronica Venut	i (10) F					
X 5:46.70S	F # 34	Female 12 & Over 400 IM	CWSL-LD			
45.97S	F # 36A	Female 10-10 50 Breast	CWSL-LD	2		-2.08
Josephine Willi	ams (10) F					
1:29.698	F # 1A	Female 10-10 100 IM	CWSL-LD	4		-6.95
1:41.618	F # 3A	Female 10-10 100 Fly	CWSL-LD	7		-19.08
41.47S	F # 6A	Female 10-10 50 Back	CWSL-LD	2		-1.44
1:28.58\$	F # 30A	Female 10-10 100 Back	CWSL-LD	3		-3.83
3:14.89\$	F # 32A	Female 10-10 200 IM	CWSL-LD	4		
NS	F # 36A	Female 10-10 50 Breast	CWSL-LD			